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n mwn: rule of MW for last day of nax
a If:awoman saw 7 (for the first time this cycle) on Z11 and went to mpn that night (!) and had nx»a with her husband
i w7 sheis a full nR1Yp Nar Dthey are 2vIM 25WN RNVN and must bring a nroYn (for violating nar Nx>1)
ii /772 she is not a mvp nar =»no liability for a 127p
b  If: this same woman was n%210 on day Z12 (N1), had nx’a and then saw o7 later that day
i v”x they are 2w 20Wn RnYn but not liable for 127p
ii /772 the man is simply “lustful” but there are no Halakhic implications
¢ Agreement: if she saw during the 11 days and
i If: she went to the mpn that night and had nx»a
1 then: she is considered full nop nar =» they are 2w 25w RNYN and must bring a NrYN
ii  and if: she went to the mpn the next day and then had nx»a
1 then: this is “poor culture”, anything she touches (i.e. m1nv) and status of her nx’a are hanging in the balance
(a) explanation: if she sees 07 later, MmNV are now Xnv and they are 129p 1arn
Discussion: background xn»71 — n"2) w"1 agree that during the 11 days, she may not go to mpn at night
a  Only disagreement: about Z11 (as per nwn)
b w7 why distinguish between Z1-10 and Z11; if she is nknv on Z11, should need oy mm»w (Z12/N1) and =»127p 2vn
i 7172 Z1-10 are different; n»&7 on next day is q7oxn with 1%, which is not true if she sees on Z11
ii ~ ®”x should be consistent; if Z11 is same as Z1-10 for N1, should be same for j29p
1 77z we are willing to be 1'nnn (and grant status of Nkmv) but not to be Yp'n (and allow for M5 PoIN)
2 Proof: w"is also inconsistent; on Z1-Z10, if she went to mpn the next day and had nx’a during the day and then saw o7
(a) Then: they would be 12772 pa»n — which is not true about Z11-Z212 (N1)
(i) Rather: w"is only ready to be 1nnn on Z12 (in that case); so too, n"a is only ready to be 1nnn on Z11 itself
RN "7's report of w"2’s position
a  Omn:day of mmw (of X1 on Z1-Z10), even after n%av, her n"1n are 08NV (as a 13277 1), even if she doesn’t see 07 later that day
i Reason: if she were to see later that day, she’d be nxnv (n”nn) >0 even if she doesn’t see
1 Challenge (901 27): this should be obvious, from their ruling in the 2" case in our mwn
2 Defense (8279 27): in that case, she saw later (on Z12::N1), can’t extrapolate from that to n"’s case
(a) Block (901 37): why is her seeing relevant? It is nT3, not nax
(b) Explanation (9o 375 73K): 9" was bothered as follows — in our mwn, there is reason to be 11 seeing as N1 as pre-
caution against seeing as nar, but in 1”1’s case, no reason to be 1M
3 Additionally: R:R war
(a) 1stprxaof an
(i) v’z equate to DY TN DY NIMY
(i) 772 8nv as a Mp Hya
(b) And: 2:x ©ar RnNAvIN — in case of moving (von) the first drop of N1t and 2w 20WN after 1t PR
(i) @725 - status is unclear, depending if he has a 2" 1”&y
(ii) 772 Mo
4 Conclusion: w"2 are not Rnon the 2wvIM 25WN of DY NIMWY on day of 1w if she hasn’t seen (should be “51n”)
(a) Correction: in X:X D121, w"1 equate the 21 of 1 N2>t to a DY 12 DY NIMY Y1 (but 112’ NIMY is more severe)
(i) Question: why does "2 generate n"1n, but ar after 1 X1 not generate 2v1M 15VN?
1. Answer: she is more likely to have more 7
(ii) Question: why does »"2*» generate n”1n nRMY but not Y2 nrmv (if he has nk»a with her during that day)?
1. Answer: n"n is more common —>{117 were M
ii  Challenge: our mwn regards her yan (and n%y1) as “hanging in the balance” —
1 Assumption: that is a consensus of v”1 and n"a
(a) Correction: that is only n”a’s position (as evidenced by nmin’ *7's remarks, aimed explicitly at 950 n>a)
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IV Dispute Y"aw/1nv '3 re: requirement of 1w if she sees on Z10 (according to N3, who don’t require 19w for N”x1 on Z11)
a  Version 1: they dispute independently
i 77 Z10is like Z9 — needs Mnow
ii 57w Z10 is like Z11 — doesn’t need v
b  Version2: it was a comment on »”aR7’s retort to ™
i y7anT contra y™ (who inferred all of these from n>p109), the following are all n"n%n
1 amnopnss ppw. V2 1w 29 for all 40 loaves
2 p 237 minimum liability for the 91
3 /77211 days between nm1% nm (n21 1)
(a) /7 read as “mavn” —i.e. 11* day not requiring Mmw
(b) 57awT read as "madn”—i.e. 10" and 11 day not requiring 1w
4 Challenge: these are inferred from n>’0a (and not n"n>n)
(a) Per: we might have thought that if she sees 3 days during n, she is nar
(i) And:v.1would be interpreted as referring to one who sees 1 day
(b) Therefore: v. 2 stipulates nnT1 ny RYa — immediately after n ' (which are 7)
(c) And: we extend it to Z2-3-4 via 2310 R (v. 2)
(d) And: we extend it to Z5-6-7-8-9-10 by the following argument
(i) Just as: Z4 would be a day of counting (if she saw on Z1-2-3) or seeing (if she saw on Z2-3-4)
(if) Similarly: any day that could be a nav-day (Z5-10) could be a day of seeing
(e) And: we extend it to Z11 via nnT ny 89
(i) But not: to Z12, which could not be a nvav-day of our original set (of Z1-2-3 or Z2-3-4)
(f) And: we allow for 2 days (D 12 DV NIMY) from """ (v. 2)
(g) And: we extend it even to seeing one day from > 92 (ibid)
(h) And: the end of v. 2 teaches that she is xnvn her Y2
(i) 77 limits it to him becoming ®nv, in spite of 1"p that would argue in favor of ar being &non his nbyai
(i) 270 nar Y1 is 2wVIM 20V RNYN from v. 3 — and this applies to "2’ NIMY from > and '’ 53 (as above)
(j)  7290: she counts one day for one day of nkmv, per n% M (v. 3)
(i) But not: 7 days for 2 nvR9, in spite of v'p from a1, who doesn’t count for 1 but counts 7 for 2
1. Reason: n% 7’ maintains 2 as per 1 — 1 day of 1w
5  Answer: y"ar1 maintains that these are n"nn; ™ infers them from yp10a (as per this xn»12)
¢ Suggestion of mypw “1(to Nax *7): perhaps if she sees during day, should be nar (per v. 1- ow); but at night — nm
i Rejection: "nnm Yy” was interpeted as “adjacent to her nTy” which is the night of the 8 — yet she is a nar
V  Concluding homily — one who studies ma%n every day is a Xan n5wn 12 per v. 4
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